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Assume that the level of water in the open tank remains the same and that there is no
friction loss throughout the system. Determine:

a) The volumetric discharge flow rate from the nozzle,

b) The pressure and velocity at points A, B, C, and D.
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The pressure rise (AP) across a pump is a function of the fluid density p, the angular
7 velocity of the impeller , the impeller diameter D, the volumetric flow rate Q, and the
a fluid viscosity h.

Apply dimensional analysis and select p, D, and o as the primary variables, in order to
define three dimensionless groups for the above problem.
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